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Instructions:
1) All questions are compulsory.
2) Each question carries 1 mark.
3) Answers should be marked in the given OMR answer sheet by darkening the
appropriate option.
4) Follow the instructions given on OMR sheet.
5) Rough work shall be done on the sheet provided at the end of question paper.
1. Ina. stage of demographic transition, both birth rate and death rate are
at their lowest.
a) Pre-transition Equilibrium b) Post-transition Equilibrium
c) Early Transition Stage d) None of these
2. e geometric shape is used on Google Earth to represent "playground”.
a) Point b) Line
c) Polygon d) None of these
3.  Normal faults are formed due to ......ccerurrunnees type of movement.
a) Compressional b) Slow
c) Tensional d) Sudden
4. s gas is known as the ozone eater.

a) Oxygen b) Carbon

c) Chlorine d) Bromine
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Delta formation in river courses is mainly the result of .........cccovuverennes action.
a) Erosional b) Transportation
c) Depositional d) None of these

Winds blowing eastward across the Rockies in North America are called......
a) Foehn b) Valley Winds

c) Chinook d) Sirocco

............. state of India had the highest birth rate, according to the 2011 census.
a) Madhya Pradesh b) Bihar

c) Rajasthan d) Kerala

......................... type of farming is done in developed countries.

a) Subsistence cultivation b) Shifting Cultivation

c) Commercial Farming d) None of these

Which software is commonly used for image interpretation in Remote
Sensing?

a) Photoshop b) AutoCAD
c) ERDAS Imagine d) MS Word
. What is Digital Image Processing?

a) Coloring images manually

b) Enhancing images using computer algorithms
c) Printing photographs

d) Drawing maps with pencil

. Agricultural Geography is a sub-discipline of .........ccuccu... geography.
a) Human b) Physical
c) Economic d) Political
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12, e is considered the father of Agricultural Geography.
a) Von Thiinen b) Humboldt
c) Sauer d) Davis

13. The Green Revolution was first initiated in......c..........

a) United States b) India
c) China d) Mexico
14. Von Thiinen's model emphasizes the concept of .......ccouuuncees cost.
a) Labour b) Transportation
c) Fertilizer d) Machinery
15, . is a type of farming based on the natural fertility of land with minimal
mechanization.
a) Shifting Cultivation b) Plantation Farming
c) Mixed Farming d) Organic Farming

16. Which one of the following is NOT a physical determinant of agriculture?
a) Climate b) Soil
c) Topography d) Market Access

17. The major crop of intensive subsistence agriculture is.............

a) Wheat b) Rice
c) Maize d) Cotton
18. The concept of "Crop Diversification" is associated with ............ agriculture.
a) Commercial b) Subsistence
c) Organic d) Modern

19. Horticulture is most closely associated with the production of ..............
a) Cereals b) Vegetables and Fruits
c) Oilseeds d) Pulses
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The highest use of fertilizers is found in .......cccuuuue..

a) Organic Farming b) Subsistence Farming

c) Commercial Farming d) Shifting Cultivation

Hunger is spatially concentrated mostly in ........ccc..... regions.

a) Developed b) Underdeveloped

c) Coastal d) Mountainous

The term "Eradication of Hunger" focuses primarily on ............. improvement.
a) Political b) Agricultural

c) Nutritional d) Industrial

The Pacific Ocean currents are mainly influenced by ........ccucuu...e

a) westerlies b) trade winds

c) monsoon winds d) cyclones

........................ is a major source of marine deposits.

a) solar radiation b) river sediment

c) wind erosion d) volcano

The world's deepest trench is ..............

a) sunda trench b) mariana trench

c) puerto rico trench d) tonga trench

The branch of Oceanography studying ocean floor structures is called........
a) physical oceanography b) marine geology

c) chemical oceanography d) ocean engineering
Proportional Circle method is used in Geography for representing..........
a) temperature b) rainfall

c) quantitative data d) qualitative data
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28. Choropleth maps represent data using different...............
a) symbols b) colors/shades
c) lines d) graphs
29. The concept of "Management of Human Resource" emphasizes .............
a) plant growth b) skill development
c) deforestation d) soil conservation

30. Sustainable management of forest resources includes

a) shifting cultivation. b) selective logging
c) urbanization d) mining
31 e asset is considered as national wealth.
a) Dams b) Agricultural land
c) Vehicles d) Buildings
32. Economic geography is a sub-branch of ................ geography.
a) Social b) Political
c) Marine d) Human

33. Which type of industry adds value to a product?

a) Primary b) Secondary
c) Tertiary d) Quaternary
34. The highest crude oil production is in ........oueeeee. state of India.
a) Maharashtra b) Assam
c) Kerala d) Jharkhand
35. Where did General Motors Ltd. first establish its car manufacturing plant in
19287
a) Mumbai b) Delhi
c) Chennai d) Kolkata
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Which state is famous for manufacturing the "Kinetic Honda" two-wheeler?
a) Madhya Pradesh b) Punjab
c) Maharashtra d) Gujarat
Gurgaon city in Punjab is famous for which industry?
a) Sugar b) Automobile
c) Cotton Textiles d) Iron and Steel
What is the longest railway route in the world?
a) Trans-Siberian Railway b) Canadian Pacific Railway
c) Varanasi-Kanyakumari d) Cape Cairo Railway
Which sector includes services such as medical care, education, and banking?
a) Primary b) Secondary
c) Tertiary d) Quaternary
Which of the following has a high proportion in urban migration?
a) Female b) Male
c) Children d) Aged people
Which of the following is the planned city after the independence of India?
a) Chandigarh b) Mumbai
c) Patna d) Lucknow
Which is the planned town in Kolhapur district of Maharashtra?
a) Shirol b) Kagal
c) Jaysingpur d) Gadhinglaj
Who proposed the concept of the Garden city?
a) Wegener b) Harris
c) Howard d) Barges
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Which country created the first Garden city?
a) United States b) Germany
c) England d) Russia

How much the minimum percentage of people in the Non-agricultural
occupation is necessary for the conversion of a rural area into a town?

a) 50 b) 75

c) 25 d) 20

Which Geographer studied the situation of city, in the ancient time?
a) Strabo b) Ptolemy

c) Hassert d) Martin

Nalanda and Takshashila cities were known for which function in ancient
India?

a) Industrial b) Education
c) Trade d) None of these

The transition zone between rural agricultural area and urban land use area
is called as .....coceorivnnee

a) Industrial area b) Urbanization

c) Residential area d) Rural-Urban Fringe
Which area is known as 'The Heart of the urban place""?
a) Industrial area

b) Residential area

c) Central Business District

d) Educational area

How many zones are discussed in the urban place given in the Multiple Nuclei
Theory?

a) 2 b) 3
c) 4 d) 9
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India's first census operation was undertaken in the year ............

a) 1872 b) 1887

c) 1910 d) 1927
India has the highest population in ............... state.
a) Maharashtra b) Bihar

c) Uttar Pradesh d) Kerala

............ year is referred as the year of demographic division in India.

a) 1921 b) 1931

c) 1941 d) 1951

The world's population has reached 800 crores on 15th November...............
a) 2020 b) 2022

c) 2021 d) 2023

................ introduced "one family one child policy.

a) India b) Japan

c) China d) France

The highest population is in ......cccnveuee. continent.

a) Asia b) Europe

c) Africa d) South America

According to Malthusian theory .................. grows in geometric progression.
a) Poverty b) Employment

c) Food supply d) Population

Why is Political Geography important?

a) It explains the movement of tectonic plates.
b) It helps understand political boundaries, power distribution, and conflicts.
c) It studies ancient civilizations only.

d) It predicts weather changes.
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Political Geography helps in analysing .................

a) Soil formation processes

b) Cultural evolution

c) Spatial organization of political activities

d) Ocean current patterns

In Political Geography, a "Frontier" is best described as:

a) A well-marked and fixed boundary

b) A zone of separation where no state has complete control
c) A natural resource area

d) A type of political treaty

Which of the following is a key characteristic of a frontier?

a) Precisely defined and permanently fixed

b) A broad and shifting area between two regions

c) Always located along rivers

d) Marked only by walls or fences

What is the "World Island" according to Mackinder's Heartland Theory?
a) Africa only

b) Europe, Asia, and Africa together

c) South America

d) Australia and Oceania

According to Spykman, which regions included in the Rimland?
a) Central Asia

b) Western Europe, the Middle East, South Asia, and East Asia
c) Australia and Antarctica

d) South America and Africa
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The primary purpose of the Chandoli Dam is..
a) Irrigation b) Power generation
c) Drinking water supply d) Flood control
Which region in Maharashtra benefits the most from the Chandoli Dam?
a) Marathwada b) Vidarbha
c) Konkan d) Western Maharashtra
The Kashmir dispute is primarily between which two countries?
a) India and Pakistan b) India and China
c) Pakistan and China d) India and Nepal

Which of the following is an example of an international territorial dispute in
Africa?

a) The Falkland Islands b) The West Bank

c) The Heglig oil field d) The Caspian Sea

Which countries are involved in South China Sea dispute?

a) China, Vietnam, Philippines, Malaysia, Brunei

b) India, Pakistan, China

c) United States, Russia, Canada

d) Brazil, Argentina, Chile

The dispute over the Golan Heights is between which two countries?
a) Israel and Syria b) Israel and Lebanon

c) Irag and Iran d) Saudi Arabia and Yemen
Which of the following is NOT a method of scale representation?
a) Verbal b) Numerical

c) Graphical d) Topographic
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Which scale is most suitable for mapping on paper?
a) Diagonal scale b) Verbal scale

c) Graphical scale d) Ratio scale

Which type of scale is used for accuracy in mechanical engineering and map

work?
a) Simple scale b) Diagonal scale
c) Time scale d) Plane scale

Which of the following projections preserves area accurately?
a) Mercator's projection b) Equal area projection
c) Zenithal projection d) Orthographic projection
Which projection touches the globe at a single line of latitude?
a) Conical with one standard parallel projection

b) Cylindrical projection

c) Zenithal projection

d) None of the above

Which projection is best for air navigation charts?

a) Mercator's projection

b) Zenithal Gnomonic projection

c) Cylindrical Equal Area projection

d) Conical projection

Which of the following is NOT a type of slope?

a) Steep b) Even

c) Convex d) Linear

11
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A hanging valley is associated with................
a) Wind b) Sea
c) Glacier d) River

Which valley is U-shaped?

a) River valley b) Hanging valley
c) Glacial valley d) Gorge
A saddle is a....cveene.

a) Low area between two peaks b) Steep slope

c) Circular valley d) Narrow hilltop

What does 'black broken line' indicate in a Survey of India map?
a) Railway line b) Footpath

c) Boundary d) Dry stream

What does the symbol ' 7' show on a weather map?

a) Wind direction b) Rainfall

c) Temperature d) Pressure

Which of the following shows a depression on a topographic map?
a) Triangular contour b) Contour with hachures
c) Blue triangle d) Closed contour

Which sensor records energy emitted from Earth's surface?

a) Passive b) Active

c) Radar d) Microwave

84. Which statistical diagram is best to show population composition?

a) Bar graph b) Pie chart
c) Line graph d) Histogram
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. Chain surveying is best suited for which region?

a) Mountainous region b) Urban areas

c) Small plain areas d) Forest region
Eratosthenes is known for ..............

a) Inventing the compass

b) Calculating the Earth's circumference

c) Mapping trade routes Arebian

d) Discovering America

Who contributed significantly to geography during the Muslim golden age?
a) Al-Masudi b) Newton

c) Strabo d) Vespucci
Renaissance period maps were improved by .......ccccuu...
a) Religious doctrine

b) Technological advancements and exploration

c) Poetry and stories

d) Traditional myths

Which explorer travelled extensively and influenced geographical
knowledge?

a) Vasco da Gama b) Christopher Columbus
c) Marco Polo d) All of the above

Which geographer emphasized interrelation between humans and
environment in the German school?

a) Mackinder
b) Humboldt
c) Blache

d) Herbertson
13:30
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The term "possibilism" is associated with .......ccc.u......
a) Ritter b) Blache

c) Huntington d) Mackinder

The American school of geography is best represented by ............

a) Ritter and Humboldt b) Sauer and Huntington
c) Mackinder and Herbertson d) Blache and Brunhes
Mackinder's heartland theory mainly addressed ................

a) Urban hierarchy

b) Spatial diffusion

c) Political power and geography

d) Migration trends

The concept of "systematic geography" deals with .........cc.c........
a) Studying one place at a time

b) Studying one theme across different regions

c) Only historical analysis

d) None of the above

The changing concept of space in geography emphasizes ............

a) Only physical distance

b) Social, economic, and relational aspects
c) Only mapping

d) Religious importance of places

What does pedology primarily study?

a) Animal b) Rock
c) Soil d) Plant

ENT-40
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97. Which factor is related to biotic influence in soil formation?
a) Rainfall b) Organisms
c) Temperature d) Elevation
98. What element does the "K" in NPK stand for?
a) Nitrogen b) Phosphorus
c) Potassium d) Calcium
99. Which of the following is a preventive measure for soil degradation?
a) Overgrazing b) Deforestation
c) Contour ploughing d) Excess irrigation
100. Vermicomposting uses which organism to decompose organic waste?
a) Ants b) Bacteria

c) Earthworms d) Snails

L 2 2 4
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Pg. Re-Entrance Examination 2025-2026
M.A/M.Sc. Geography (Marathi) Entrance
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DU HBHATAN ... CHIT STHER A0 HIeR Qe BT 3T,
a) Jd HhHUT AT b) 3T TehHUT AHAIA

¢) IRfUe AT d) TATAS PHroTaTe T

TPTe 37eHed WodT A GAGUANTST ......ocoeeee YA 3Tl ARl STid.
a) fig b) Y1

c) gyl d) SRt BIUTATE! el
YBRT BleTaTciHed AT 42T daR gldl.

a) Hpfaa/ddie b) Hg

c) dHEdIcHDB d) 3MhAH

.................... IR 3TSHI T8 BRUIRT FEULH 35l STl

a) 37ifeR¥=T b) BTeH

9ESING| d) i

eI FaTerd st el Affd SR ... fosa 31T,

a) &R0 b) &

¢) TR d) TS ProTaTe T

3R 3RS bl TddTa®- Jddbs AEUIRIT AT ... TEUTATd.
a) T b) & AR

c) R d) RRY&!

2011 T STPIUATAR cvvvereeeee RTSATA Al ST-HER 3@,

a) e Y& b) fegR

c) IR d) BB
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CE R ICIILE S— Jeb R Al Bel ST,

a) 3afatedd et b) ReretiaR Qe

c) SATGATAS et d) SR HIOTATE! ATE
ReTe A meic i fGATOIRITSE! BIUTd ATEA3R ATHRIE IR STl ?
a) BIcIeiTa b) 3iicIdhs

c) RS SHfSIF (ERDAS Imagine) d) UH.Ug. 98

fefSiect gHst TR FEuTst By ?

a) g1d fddr draor

b) FTUTR AT TTERATH fcHT JTR BRI

c) il 8IS

d) eI Y&

P PN 13 ... P 3T 3R,

a) HAT b) T

c) 3nfefem d) 3MsThI
...................... i1 BT WA ST U 3BT ST,

a) af o b) geliee

) W3R d) 3few

gRd hicidl JHaTd JAYLH ............. 39 STe!

a) 3R b) WA

c) A= d) AfeRIe!

S T HiScHed .............. TN HheqaR WX f&eTl 318,
a) ¥l b) ATEq®

c) gd RERIED]]
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........... et & Aaffes JdfipdaR 3 3RgA el dvamafiar et araR .

a) qeTidfe et b) AeTt et
SILERIGI] d) ife et
HTctTeTdes] BIuTdT Hedb gy ifad fFeRe ArEr?

a) gaHH b) ATt

¢) feTdY d) SISTRUSTI 3TcTeeldr
- HHHed Sdcl SR TE 9 Bolet ............

a) g b) Tl

¢) 7Bl d) PIgd

e fafdefiepeor € Ahed T ... Qcitel Heifad 372,
a) STIRI b) 3R

c) A d) 3nefAs
BellcdG AT G HATAD HAE ..., RICICCINIEII
a) 4Ty b) UTSIITCAT d B
c) detfeT d) Beem=

AT AATND ATTR <coveveereenrrens Qriidl el ST

a) dfed b) 3czfals

c) TIRY d) eTidiRd
SUNAR. ccccorverre ycerHed it HeSwd.

a) famfad b) 3fdsiad

c) fpARug! d) SPRY
SYNIAR " I1 Hhed-dl & O ... JLROT ITeR 318
3) ASTBI b) Pt

c) YISO d) 3ftenfie
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AT HERAPRTATC TG HIE cvvvveevrreeseneres o5 THTfAd il
a) ufgHi ar b) SATIRY IR

¢) AT R d) IehiaTcas

........... & TP MeBd WIRg Wi 378

a) IR 3T b) AGIT 3B

c) a1 IR IVTR &RUT d) AT

SPTTCTA FaTd WA PRI ITAT covvvvvevveveee 3Te.

a) Jar 1l b) AT o7

c) qud Rep! I7df d) &b ardf
GG TN 3G BRI HGLAH ARIT ...........o.. BT
a) +fifoies TG b) PR s

c) IIfAD FHGLAH d) I iR
YHIIOTA Tcjod UGl PN <o GRIfUITATS! ARl SiTd
a) A9 b) 15

c) TRATHD HTfgdl d) 3[UTTee Hifeell
BRITIGAT BTN oo =77 fafae Seigr Arfed goffadrd.
a) A= b) 31 BT

c) s d) 3T

"HId] AT FARATI IT JheT~dl MW ................. 9 3Aql.
a) IRYA I1€ b) Plercd faBRT

<) SPTAATS d) gergae

a1 TATeAT QMY AGRATI AL .........eeoe A 3T
a) XeAidRd odt b) fAds® gardis

c) QAERIBU] d) FUTehM
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LEI GG 2] S AT TS Hl FEULH 3Nl STl

a) &RUT b) AT 7

c) dTe- d) $ARd

37 9Phter ... PTcITe! IYLATET 3R,

a) 9HIS6 b) ST

c) PRI d) g4l

BIUTAT YBRAT I IATCATd Heae el ?

a) mffs b) g=H

c) qeilas d) Tqele

HRATA AP FAT AAT JATGH <ovvvvvrveeen RTSTA BId

a) HERTE b) 3T

C) BB d) RS

STRE HICHA 293¢ HATel HRATd el BR Bl HIS Y& bl ?
a) 4ss b) et

c) I8 d) PIcIdl

"Kinetic Honda" GaITeh! ITSIAT IATGATITS! SIUTd I TG 377e.
a) He Ha2l b) GTrel

C) HERTE d) sRTd

UTTe Aefiel IRING QAR IV JEPTRATS! Ufdg 3Te?

a) ARG eI b) 3HTCHISTE T 3T

c) JIFroft d) it g dieTrg 3amT
STl Tdid ofid Yod HPT IOl 3176 ?

a) 2 AIaRI ¥ed b) TSI URAfthds Y
c) IRTURH HATHHART d) BT B ed
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QAT dh! BT e dedhi JdT, Aeifties Jdr, g SfdseT Jar Ji=r TH1aLr 8.

a) Ui b) g=IH

c) qf= d) RITIEH! HIOTATE ATEN
GTeTeTddb! PIUTT ITeTd QAT LAATARTHES YHTOT 318 378 ?

a) AfgeT b) g5Y

c) gl d) 3G

WRAT AR ST 28R FUH BIUld Qe [ Silel?
a) TS b) Hg

c) areon d) gl

PlIeaTRR egITdlet A 2R BIoTd 3R?

a) okl b) BT

¢) SRR d) Tefevetst

e e & AbeaT HIvft Aigeti?

a) PR b) &R

c) &lds CEIER]

Y e RIS BT G2MTd [ABRIA BRUATA 3Teil?

a) 3RS b) STH

) 8cig d) A=

ATHIOT YPTT QAERTA RATAR BRUIMATS] 358! SHTH BRUN-Ii! fBHT Cebard fabdt
3Tl TPTA ?

a) o b) by

b) 24 d) Q0

YTl Bl ARt RAAT 3NARIUIR P NcTdst PHIvT Ed?
a) ¥Tel b) Zfetr

c) &C d) Arféa
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qrciar g AR & Ui YR 8% BT BRITS! g &l ?

a) 3ENPI® b) derfores

c) TR d) Rt e el
FTHIoT et 81 T QMR AR & AT e e HUT ST BT FEUTATd ?
a) e & b) 2IERIHRT

c) fRard &= d) FTHIOT Q& HHRE
Q&Y AT &' PIUTAT HPT HIHAT STl ?

a) 3fenfis & b) fAard) &4

c) ATl AR fqumT d) Qerfores &

TgePIRM g RIGITd UepuT fobell faumTi=I Icvied 31782

a)R b) 3

Q)Y d) s
YRAHE gfgel! ST ............. ATl St

a) Q¢ b) 8¢¢t

c) 2320 d) €30
YRAMHEY AP ABIE ............... T AT 3778

a) HeRTg b) faER

c) IR UG d) 3B

URATHEY ... & Y AlpaTRIRAN [T 9y A STd
a) 2322 b) 2332

c) 2392 d) 2342

L | o= D RNsft SPITR AT Coo BIcIaR Garaat.
a) 2020 b) 0R

c) 2039 d) 2033
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TP P U o' &l AT oovvrrrenee G I bl
a) IRd b) 1919

c) = d) %1
HATAD DI ... RIRCERIEI

a) 31K b) ZR1T

c) 3h T d) gfeyor 3mReT
HTeRTAT RIGIATTAR oo 1 gehrl are Yffad Jofiid g
a) st b) PR

¢) 3 Aol d) ez
RIS WPTIet I Hewdrl 3G ?

a) dI ¢aeifAs TicH<AT BleTdlell T Bl

b) ol ST AT, T faeRoT 10T e FAHTaar

c) Tl Bth YT FRPcie 3G Bl

d) Y AT dGe UTehid Bl

RECA LR N1 10 (N, I fAQ901 BRI Hed 2ld.
a) JGRITT fehdT

b) TiRplcIh Ichidl

c) TSI febaAThaTiT AN Aigufi

d) T aTe YRy

(=)

) Uab faReiToT 31101 Teldl SGAUTRT Hael fid) shiuTengl 1) Aqut fAisor =t

o

JEIePTd T IATAT 9T
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shicave! dfreR! BIoTd 3Mg?

a) 37 AR 9 BIIHRGRUI fAfFd

b) fareftof 30T sEetedn <1 ugeTdter Harw

c) AgH! TEiePId I9eteT

d) Wb et febar auni=it gefacter

Hfdhevea gaaelel RIGIAFRIR "dos 3TIcis" TSl B1d ?
a) Bth 31%hapT b) R4, ATFAIT 10T 31T T
c) &f&IuT 3ARBI d) 3o 3nfor 3t
WRIHAATIR RASHE B0 YPT FHIAS BeTd ?

a) Teg 1T

b) UfFH 1Y, Hea qd, af&ior A1fA=T 37101 g 3nfran

c) JReferan 3nfor 3jerfdan

d) gfaror 3mResT 311OY 37fihest

TiGIe! ERUTET TR 382 ...oroeeeeee 37Te

a) e b) faggd fAfedt
c) fauar groft d) I3 A=
HERTEIcilcT SI0TAT HPT Ticiell ERUTHES Haifdid ol Hdl?
a) ARTGATE b) fare

C) PIBUT d) gf3H HERTE
BILHR fadTe IR PV G GG 3§ ?

a) YRd 31110 grfeeedr

b) YR 310 <

c) gTfde¥ 37101 <9

d) MRd 301 AUTes
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3T cbdtel ARSI IHTAIGT 3aTeRUT HIUTA ?

a) Bipeis d¢ b) SR¢ db

c) BfehT det & d) BRI TG
GfeIuT < HG aTeTd PIvTd &2l JeHPH Hgd?

a) T, fRwaTm, fsforTg=w, wafrn, g4

b) YR, grfdedr=, ==

c) 3R, IFAAT, HaT

d) stTefiet, 3tsifer, fReft

M T8¢y A1 HIUTT G GLlGRIH 378 ?

a) S 30T AR b) SHRIC 0T A=
c) SR JATIOT ZRT0T d) It 3Rfe= 3mfor I8
GTcieTdehl 0T FATOT Geffauart ggd ATgi?

a) HIfg® b) HATHD
SEsel d) sg3mpelt

BPTGIER ABIAT BIGUITHTS! HIUTA FHTUT 3Uh T8 ?

a) fove /ot ymmoT b) Hf&es gHTOT

c) 3TTeRd] JHToT d)’IUﬂ?I'\’FITITUT

I3 AAGIRABT I TBILA BT HIBATTS! BIUTd THIUT ITIRA 3Tl ?
a) 318} 1T b) ferepr /ot yraToT
c) des FHTOT d) ¥R FHTOT
GTcieTdehl HIUTd YOI &5 3yl aeffda?

a) Hobe? gaquoy

b) 7 & Haqur

c) JHE W&

d) 3ielfntses yaraor
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74.

75.

76.

77.

78.

79.

80.

PIUTd G&IUT GATeAT UShTe AR ¥92f el ?

a) U JHIUT 37&IgINIg 20 Yo

b) 2°TieT g&qur

c) THET Y&

d) IR BroTAE ATl

gaTs fGeMNITd ABINATS! BIUTA YaquT AR 318 ?

a) Gdbed JaYuT b) @ﬁ‘éﬂjﬂ'ﬂ@qw
c) G THATDHS FaAI0T d) 2 gargoT
GTciTeTdah] BIUTdT SARTIT JBR T8l ?

a) dig b) IH

c) dfedh d) ¥

ghlr eft apromeft Hefdrd 3me?

a) @RI b) TG

c) fewdt d) 7!
BIUTAN &Y U HTBRTE 3RAA?

a) Adl &t b) &1 Zeft

c) feadi &t d) 356 &3t

L2 Rty S

a) G fAReRImefeT et wpT b) el 3dR

c) TIDBIBR & d) 315G cepst HIT
HRd IRBRAT HIHUT ABILATA BIeoA Jeeiedl 391 B Gefadrd?
a) ¥ed AP b) UTIdTE

c) RS d) BRI Yd1g
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81.

82.

83.

84.

85.

86.

87.

88.

A TR ' /' & g s eefaa?

a) aTed faom b) UI3>¥

c) drgq= d) ga< g«

YRYCTCLAPB ABILATR WIS YUPT GATGUIRITS! BTN AR el ?
a) Beivft @ b) & Wl FH-R

c) AeT AT d) s FHRET

g1 GSHPTIARRA 3cdfaid 3ot Hig PIOTAT F~IR PHRcll?

a) UfIg b) 3ffRE

c) VSR d) AIpIdE

el I QRIGUITHTS] 10T HifSAeh 3HTeid I17d 3187

a) W 37T b) fauTfSid I

c) 38T 31Teld d) fieem

T W PIVTT UPTRATS! AT AP 377 ?

a) SIPRTES T2 b) Q& 9T

¢) STET JYTE BT d) STcT 8
TERI....ccooooe A1 3NBEAT STl

a) DURTT 20Tef ATIUIRT b) g2t URET=H HISTUf BRUTRT
¢) IR APTRS ALl BRUTR] d) 3ANGAT 2Nl ATTUIRT
3RS FAUIRPII Wiiet STd HIS APTGH Hivf it ?

a) 37T Fl b) =&

c) ¥Tell d) SRt

BT (Renaissance) BIBIlc] ABIRITHE JLURUT H2ATHS STcil 2
a) efie gidige b) Tif3e6 YTl d H-ATUMHS
c) il d HYHD d) IRUR fAYBiS
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89.

90.

91.

92.

93.

94.

95.

ENT-40

DIV YIRAT §IT fSBTUTt TaRT B_A WPl ST-IER GHTd bl ?

a) IRGh! G IHT b) RIATHR Dlciad
c) HIh! Gretl d) eRieT 31d

STHA PN fAaRIRUAHE BV Plcidssi= A-d! 9 TaiaRuiiy Jeeliar o feer?
a) Hfdp= b) Edle

C) ST d) g
"GUTRATG (Possibilism) & TS ...eeeveeeeen. e 378,

a) Rew b) ST

c) gfdved d) Afe=?

3RS Piie] foarRIRoi g gfafAe.................. gid

a) ReR 37101 gellee b) 3R 3710Y &fdoe
c) Hicb-ex 37101 geica d) ST 371101 &<
Hfds-gR i geaRel RIGid T&IE .ovvveeeens Tefad 31g.

a) PRI Aft (Urban hierarchy)

b) 31T YR (Spatial diffusion)

c) ST AhT d WPTed

d) TR Yqit

"Tgd2fR WPNet AT Hheq~ar e B ?

a) UShT dodl UShTd f&epTuTTIT 3101

b) U fawTen fafder ggerid 3namy

c) Bh Vel fagyo

d) FRAUD! BRI ATE!

P "8 AT FBEITANT TG THBT ..ooeovrrrrres IR dl.

a) Bh Hifdie 3aRTR b) ATHISIep, 311fefes 30T whe defar
C) Bth ABILATHATER d) it enfife dewmer
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96.

97.

98.

99.

100. THT BHYIRST Ufdhdd PHIUTd Taild Afgd HorT f[agfed ddrd?

UEiciisil (Pedology) A Sl 31RART &Rl ?

a) woft b) @S

c) At d) gl
1eft fAfHcdia i T HroTd 3me?

a) Ysi=HH b) Sifds
c) dI9H d) 3t
NPK I H&ITcliel K" PIUTRT GehRITST 37Te?

a) TGS b) BRI
c) UIerH d) Hfem
AT GRATET Yfdeel BRUTRT 3UTY HIUTAT?

a) AR (Overgrazing)

b) 3PTetdls

¢) AR BIEHIATd APRUIT (Contour ploughing)
d) 31fq &=

a) g b) fSramu]

c) Mg a) TP
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